1.

A:M+M_\/Wx(_\/§)2

B = V14 x \/§+<—\/§>

A=14+2-32x2=7-18=-11

B—12><9. 3 —12><9>< S )= 10




®3 @3 @ @

V52 =5, /(-5)2=5, —/(-5)2 = -5

webA], a? + 2b - ¢ = 25+ 10 + 5 = 40 °]t},




@ V100 - V132
4% 32
@ - 5 )
v AV
® ()xm

@ V100- V132 =10-13=-3

V4 x 32 3
B :—2X§:—3

Ty S __
® -./(-5) xm— 3
@ -V52 + V6d = -5+8 =3
® (~2)"x (¥8)"+ (-¥0) = -3

@ -




OJZPYA A 4x? —ax-48 =0 9] 3|7}t x =
71 ofj o] ohE jF 9] b kY

@22

-2

© 18 @ 20 ® 24

o]

=

o, A4 a 9]

® 26

B

16 +2a-48 =0
s.a=16

4x* —16x—48 =0
2 —4x-12=0
(x-6)(x+2)=0
6, —

(TF

X =

(\V]

S.a

i
St

+ ) =16+6 =22




5.

il
ot
rl
Mo

D

oY A ¥ +ax-8=10 2] 3 Zo] 2 wf, T}

¥ +ax—-8=0° x=25 HYUstA
442a-8=0

La=2

¥ +2x-8=0

(x+4)(x-=2)=0

L x=28%tEx=-4




rH o

o e b7

@ 8 ® -2

@
B

oA HA k2 +ax—-16 =09 T

rek

X +ax—16=09]
x=8ZHYstH a=-6
¥ —6x-16=0
(x=8)(x+2) =0

L x=8E+FE x=-2
Ta+x=-6-2=-8




